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szt. szt. Lim] [r1[m] |h2[m] |i[%] H.$r.[m] S[m] [m3] hk[m] szt szt
1/9 219/7 54,80| 54,70
1 52,39 Sad45 Sa451 41| 52,90 53,00 2,0 0,51 1
425 1,90 1,70 195 0,90 7,2
2/9. 220/16 55.90| 56,20
1 53,87 Sad46 Sa.46.1 23| 5450 54,80| 13,0 0,63 1
425 1,40 1,40 1,55 0,90 3,2
2/9. 220/15 56,55| 56,60
1 5422  Sa.4l Sa.471 35| 5493 5500 2,0 0,71 1
425 1,62| 1,60 1,76 0,90 5,5
2/9. 219/4 56,80| 57,00
1 54,31 Sa48 Sa.48.1 46| 5537 5560 50 1,06 1
425 1,43 1,40 1,57 0,90 6,5
2/9. 220/14 57,00| 57,10
1 54,39 Sa49 Sa.49.1 35 5560 5570 3,0 1,21 1
425 1,40 1,40 1,55 0,90 4,9
2/9. 57,20| 57,30
1 219/5 5510  Sa.51 Sa.52.1 52| 5575 5590 29 0,65 1
425 1,45 1,40 1,58 0,90 7,4
2/9. 56,50| 57,10
1 305/7 54,70 Sa.55 Sa.55.1 87| 54,70 54,90 23 1
425 1,80 2,20 2,15 0,90 16,8
2/9. 55,90 55,90
1 1 219/10 5325 Sa.57 Sa.57.1 46| 5328 53,60 7,0 0,03 1
425 2,62 2,30 2,61 0,90 10,8
2/9. 56,30| 56,50
1 220/4 54,02 Sa.62 Sa.62.1 70| 54,89 5510 3,0 0,87 1
425 1,41 1,40 1,56 0,90 9,8
2/9. 220/2 57,00| 57,20
1 5455  Sa.65 Sa.65.1 81| 5556| 5580 3,0 1,01 1
425 1,44 1,40 1,57 0,90 11,5
2/9. 219/9 57,00| 57,10
1 5480  Sa.67 Sa.67.1 38| 5562 5570 2,0 082 1 1
1200 1,38 1,40 1,54 0,90 5,3
2/9. 304/2 57,00| 56,60
1 5480  Sa.67 Sa.67.3 19,9| 54,98| 5538| 2,0 0,18 1
1200 2,02 1,22 1,77 0,90 31,7




